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LAW
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

1.

guestions are compulsory.

In Golaknath Vs State of Punjab Justice K. Subba Rao observed

(1) The Preamble contains in a nutshell ideals and aspirations of the Constitution.
(2) The Preamble is the key to open the minds of the Constitution makers.

(3) The Preamble is enforceable by the Judiciary.

(4) The Preamble of our Constitution is of great importance and it should be
implemented.

The Five Judges Constitution Bench held that ‘Imparting Education cannot be treated as a
Trade or Business’ in which of the following cases ?

(1) Unnikrishanan Case
(2) Mohini Jain Case
(3) Dinesh Kumar Case
(4) P.A.Inamdar Case

As per the Constitution of India, which of the following statement(s) is/are correct ?
(@) The state may make provision for securing just and humane conditions of work.

(b) The state shall endeavour to provide early childhood care and education for all the
children until they complete the age of six years.

(c) The state shall not endeavour to secure for the citizens a uniform civil code in the
territory of India.

(d) The state shall endeavour to protect and improve the environment and to safeguard
the forests and wildlife of the country.

Select the correct answer from the codes given below :
Codes :

(1) (a), (b)and (c)

(2) (b, (c) and (d)

(3) (b)and (d)

(4) (c)and (d)

Read Assertion (A) and Reason (R) and answer using the codes given below :

Assertion (A) :  No minimum age is prescribed for appointment as a Judge of the
Supreme Court of India nor is there any fixed period of office.

Reason (R) : The original jurisdiction of the Supreme Court is dealt within Article-
132 of the Constitution of India.

Codes :

(1) (A)and (R) are right and (R) is the correct explanation of (A).
(2) (A) and (R) are right, but (R) is not the right explanation of (A).
(3) (A)isright but (R) is wrong.

(4) Both (A) and (R) are wrong.
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1. TICTRT S USTE T A | =ETEeT &, eRE A FEfeiad 9 T e ?
(1) VRIS SiaeT & TSI 37 SIS Sl F&id H W@l ¢ |
(2)  VRATSAT WiereT FRTATeT & foaemT S T R B el § |
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(4) BER TaUM o TEdEHT S 3 e & 31X 38 Hraifad ot ST =1t |

2. TrAfafEd 4 9 68 qme § U e s @i g 3 o o i e uem == @6
U AR & AR 0 Fal GHe ST gt |7 ?
(1) Siipwr Arwen (2) e S wen
(3)  ferter HHR He (4) WT TEIR HHEAT

3.  9RA % GiauM % AR fEfafad § | i | e 9 88 2
(a) TSI = R HE D A IRt bt R R & foTT e s Fehar € |
(b) TSF W FEEl A T: AT H Y YU FH T 6T S@HTA IR BT USH FRA F T

HAT |

(c) T WRAE & § AN & feld Ush THE AMRe Giedl gHvad s % faw wa 7@l
T |

(d) ST 39 A SR ST Sa i IR FA SR JATER0T 3 WA 3T IR HA 6 T
HAT |

T 5T T et | ¥ WEl IR B I DT
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1) (a), (b) 3R (c) 2 (b), (c) AR (d)

(3) (b) FR(d) 4) (o) 3R ()

4, ITEA (A) 3R HROT (R) Hl TgHT A9 ST 7T et 1 STANT I §T Tl TR 1 T8 T

ATTHT (A) : RA % STIAH <A % =T % dRX W g & e 7 € $ig gy oy
AR T & HEHA Ht ety FaiRa € |

FHRUT(R)  : 9RA % Soaad e 1 ol =1k SR YR % Gaee & 3esg 132 9
Hetad & |

ETE

(1) (A) 3R (R) T4 Tel & 31X (R), (A) H T&l A |

(2) (A) 3T (R) IHT et € Al (R), (A) T Tt AR &l 2 |

(3) (A) W&l & wf (R) Tt & |

(4) SHT(A) 3R (R) o F
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5. In which one of the following cases the Supreme Court of India had invalidated a
Constitutional Amendment for non-compliance with the procedure contained in the
proviso to clause (2) of Article-368 ?

(1) Kihoto Hollohan V. Zachilhu and others
(2) Keshavanand Bharati V. State of Kerala
(3) Golaknath V. State of Punjab

(4) State of West Bengal V. Union of India

6.  If the President of India is satisfied that a grave emergency exists whereby the security of
India or any part of the territory thereof is threatened whether by war or external
aggression or armed rebellion he may by proclamation make a declaration to that effect.
Here the *satisfaction’ of the President of India means :

(1) The personal satisfaction of the President of India.

(2) The personal satisfaction of the Prime Minister and all the Council of Ministers and
informing to the President of India.

(3) The decision of the Union Cabinet that such a proclamation may be issued, has been
communicated to him in writing.

(4) The decision of the Union Cabinet, that such a proclamation may be issued, has been
communicated to him in writing along with 2/3" Parliament Member’s signature.

7. Match the List-1 with List-11 and select the correct answer using the codes given below :

List-1 List-11

(@) Hari Krishna Bhargav Vs Union (i) Conditional Legislation
of India

(b) Godfrey Philips India Ltd. Vs (ii) Principles of Interpretation to avoid
State of U.P. over lapping

(c) K.C. Gajapati Narayan Deo Vs. (iii) Power of Parliament to levy taxes on
State of Orissa income other than  Agricultural

Income
(d) Inre: The Delhi Laws Act (iv)  Colourable Legislation
Codes :

@ () ( (@
@ Gy () (Gv) ()
2 @) @iy (@) (v)
@) @iy @(v) () ()
) (@) (i) (v) ()

8.  “The task of social engineering is to build as efficient structure of the society as possible
with minimum friction and waste.”

This statement is of :

(1) Kelsen
(2) Roscoe Pound
(3) Savigny

(4) Karl Marx
Paper-I1 4 J-58-16
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= - | = - 1
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ENRIED] fagia

(c) T, TTUT AR 3 FAH IS A (iii) PO AT F AT FF AT W
T o1 AT T 3TIHR

(d) T3 : T el o U (iv) T faumEs
%<

(=N

@ (@(® (@© (@
@ Gy () (v) ()
@ @) @iy (@) (v)
@) (i) @(v) @) ()
@) @) (@) (v) ()

8.  “TINTST SSIHARTT Sl 9o 1 —aH Ju0T SR 3UeqT & T FAT Woe THST i H9T6T TG
faor A € 1”7 T8 e ffetad § | forae € 2

(1) e (2) i URTS
(3) Wferr (4) =reT AR
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10.

11.

12.

13.

14.

Ratio decidendi may be defined as

(1) Statement of law applied to the legal problems disclosed by facts.

(2) Finding of material facts, direct and inferential, based on earlier case law.
(3) The rule of law which others regard as being of binding authority.

(4) All of the above

Which one of the following groups indicate the four sanctions as enumerated by Bentham
for various kinds of pleasure and pain ?

(1) Physical, Moral, Ethical and Political

(2) Physical, Political, Moral and Religious

(3) Moral, Social, Legal and Political

(4) Legal, Ethical, Moral and Social

The three defects in the simple social structure of primary rules as enunciated by Hart are :
(1) Their inadequacy, immobility and efficiency

(2) Their uncertainty, static and inefficiency

(3) Their mobility, easiness and simplicity

(4) Their abnormality, violability and unsoundness

Match List-1 with List-11 and select the correct answer using the codes given below :

List-1 List-11
(Book) (Author)
(@) The Concept of Law (i) Gray

(b) The Nature and Sources of the Law (i)  Julius Stone
(c) Some Reflections on Jurisprudence  (iii) Buckland
(d) The Province and Function of Law  (iv) H.L.A. Hart
Codes :
@ (@0 (@© (@
L (@v) @) (i) (i)
(2 (v) @) (1) (i)
(3 (@v) @) () (i)
@ @ (i) (v) (i)

Which one of the following is not a theory of the nature of ‘Legal Persons’ ?
(1) Purpose Theory (2) Fiction Theory
(3) Interest Theory (4) Bracket Theory

“International law must be continuously developed by revision in content, expansion of
scope and improvement of the means of securing compliance, so that it is kept in
accordance with the changing needs of the international community.”

This statement is made by :

(1) Starke

(2) Edward Collins

(3) L. Oppenheim

(4)  W. Friedman

Paper-I1 6 J-58-16



9.

10.

11.

12.

13.

14.

“TafTeaa SMER’ ot uRTeT Fefefad 3 9 a0 &9 | &7 ST gehdl ¢

(1) T | vehe fafs Trensti W e HHA H H |
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(4) S WA

frfefed & @ ®F @ ¥ A= 7R & 59=dr 3R el & fae s=m 3R fAw e ar
It i ST & 2

(1) iR, Afde, R 3R ToHITE  (2) IR, JSHITde, Aide S e

(3) fck, QAT fafe ik Toifas (4)  fafes, R, Afde iR g

e Framt st TRet TSt SEET | g gRT g 78 o Jfeat €

(1) S7eh! STUATA, TR 3T HeTerd

(2) R AT, STedr Y THeTerr

(3)  STRI TIfARTCTAT, HeSTaT 3R WeAd!

(4) ST STEHIAT, SCCEHRT SR fahid

T — | & G — || & 9 GATerd T S G & A 1T T el T TR S TEl ST ol 99

e
e - | = - 1
(T&Th) (FrEh)
(d) T HAEE AE i =

(b) = ¥R v R T A (i) e we
(c) w9 Ructaer o sIikegeg (i) aweie
(d) < vifow e GwE @ (V) TITAT Bl
A

@ ® (@© @
1) (v) (@) (i) (i)
2 (v) @)y (@) (i)
@) (v) (@) (i) (i)
@ @ (i) (@v) (i)
Frfetiad & 9 i “fatuss safer’ & @ 1 fagrT T8l € ?
(1) vasH fasT (2) Hloaa Mg
3) fa fosm @) e o

“3TeRTer fafyr ot fower g § WeeM, SRR & foaRaR 31X TRe 3o & AreAi § guR & gR
TRAX 9 & foshiad forar STHT 1feT aifch 30 RIS TR i URafad eidl g Savghdrel &

3TIET @ ST 9 1"

TfafEd 5§ I8 Fo e ¢ 2

(1) w&F (2) UsHS HifeTT
(3) A IAUTRH (4) == WESHH
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15.

16.

17.

Which of the following statement(s) is/are not correct ?

(a) Decisions or determinations of the organs of International Institution does not find
mention in Article-38 of the Statute of the International Court of Justice.

(b) West Rand Central Gold Mining Company Ltd. V. R is related to general principles
of law recognised by civilized states.

(c) Frontier Dispute (Barkina Faso Vs Mali) is a case related to International customs
as a source of law.

(d) The importance of the works of the jurists has been stressed by Justice Gray in
Barcelona Traction Case.

Codes:

(1) Only (a), (b) and (c) are not correct.
(2) Only (b), (c) and (d) are not correct.
(3) Only (c) and (d) are not correct.

(4) (a), (b), (c) and (d) all are not correct.

Read the following statements and give the correct answer by using the codes given
below:

Assertion (A) : According to the exponents of Monism Theory, law is a Unified
branch of knowledge, no matter whether it applies on persons or other
entities.

Reason (R) : In view of the Monistic writers, in the ultimate analysis of the law we
find that man is at the root to all laws.

Codes :

(1) (A) and (R) both are correct and (R) is the correct explanation of (A).

(2) (A)and (R) both are correct, but (R) is not the correct explanation of (A).
(3) (A)is correct, (R) is wrong.

(4) (A)iswrong, (R) is correct.

Which of the following statement(s) is/are correct ?

(@ According to the constitutive theory of recognition, statehood or the authority of the
new government exists as such prior to and independently of recognition.

(b) De Jure recognition is by nature provisional and may be made dependent on
conditions with which the new entity has to comply.

(c) The principle that there is no distinction between de facto and de jure recognition for
the purpose of giving effect to the internal acts of the recognised authority was laid
down in Luther Vs. Sagar.

(d) De jure recognition is final and once given cannot be withdrawn.
Codes :

(1) Only (b) is correct.

(2) Only (a), (b) and (c) are correct.

(3) Only (b), (c) and (d) are correct.

(4) (a), (b), (c) and (d) all are correct.

Paper-I1 8 J-58-16
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18.

19.

20.

21.

22.

The principle of self-determination has been incorporated in the Charter of United Nations
under :

(1) Article 2(7) (2) Article5
(3) Article 6 (4) Articles 1(2), 55 and 56

The Commission on Human Rights was replaced by Human Rights Council by the
General Assembly vide its Resolution :

(1) 60/251 of 15 March, 2006
(2) 61/260 of 15 March, 2008
(3) 60/251 of 20 March, 2006
(4) 60/251 of 30 March, 2006

‘Sapinda Relationship’, which prohibits marriage among Hindus with near relatives on
paternal and maternal sides, is based on the principle of

(1) Monogamy (2) Endogamy

(3) Exogamy (4) Polygamy

Match List-1 with List-11 under the Hindu Marriage Act, 1955 and give the correct answer
with the help of codes given below :

List-1 List-11
(@) Ceremonies for a Hindu marriage (i) Sec.15
(b) Restitution of Conjugal Rights (i) Sec.7
(c) Remarriage of divorced persons (iii)  Sec. 16
(d) Legitimacy of Children (iv) Sec.9

Codes :

@ () (@ (@
@ @ @)y @) (v)
(2 (@) (v) () (i)
3 (@v) (i) (i) ()
@ (i) (v) @) ()

Read the following statement and answer with the help of the codes given below :

The guilt theory of divorce, on the one hand, implies a guilty party and on the other, it
implies that the other party is innocent. In view of this which of the following is/are
correct ?

(@) If cruelty is provoked, divorce will be refused.

(b) If innocent party condones the acts of the guilty party, no divorce can be granted.
(c) If both parties were guilty, divorce would not be granted to either.

(d) Unreasonable delay in filing petition is no bar for the relief of divorce.

Codes :

(1) Only (a) and (c) are correct.

(2) Only (b) and (c) are correct.

(3) Only (a), (b) and (c) are correct.

(4) Only (c) and (d) are correct.

Paper-I1 10 J-58-16



18.

19.

20.

21.

22.
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g W smeia €

(1) U= faar (2) T foeme
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(C)  omRseT Ak 1 qAtgare (i) w7 16
(d) st =t Suar (iv) &m19
T4

(=N

@ (0 ( (@
@ O @) @) (v)
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(3) FHaA (a), (b) 3 (c) WETE | (4) FaA (c) I (d) TEE |
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23.

24,

25.

26.

Match List-1 with List-11 and select the correct answer using the codes given below :

List-I List-11
(Veda) (Deals with)
(a) Yajurveda (i) Praise of forces of nature
(b) Samveda (ii)  Magic, Spell and Incantation
(c) Atharvaveda (iii) Rituals
(d) Rigveda (iv) Dance

Codes :

@ (b (© @
@ @ () (v) (i)
(2 @) (v) (1) (i)
3 (@v) (i) (i) ()
4 (i) (@v) (@) (D)

Which of the following statement(s) is/are correct in relation to ‘muta’ marriage ?
(@) Itisatemporary marriage.

(b) Itisrecognised under Sunni law.

(c) Itisrecognised under Shia law.

(d) Itisamarriage for a fixed period.

Codes :

(1) Only (a), (c) and (d) are correct.

(2) Only (b), (c) and (d) are correct.

(3) Only (b) is correct.

(4) (a), (b), (c) and (d) all are correct.

Read Assertion (A) and Reason (R) and answer using the codes given below :

Assertion (A) : The Shariat Act, 1937 makes Muslim law applicable expressly to all
Muslims.

Reason (R) : The Act has abrogated almost all the customs (except relating to
agricultural land) applicable to Muslims.

Codes :

(1) (A)isright but (R) is wrong.

(2) Both (A) and (R) are wrong.

(3) (R)isright but (A) is wrong.

(4) Both (A) and (R) are right and (R) is the correct reason of (A).

The remedy of Restitution of Conjugal Rights has its roots in
(1) Jewish Law

(2) French Law

(3) English Law

(4) Indian Law

Paper-I1 12 J-58-16



23.

24,

25.

26.

ﬁ- | 3R gt — 11 = gufe Sifve i gieat & = KT T %2l @ uET S W@ S
e - | =i - 1
(3%) (Waifera )
@ e () vpfa ol wfoRTal o TR
(b) R (i) <, o 3 ek
OIS e (1) B
d) == (iv) 5=
ETE
@ (® () ()
@ @ Gy (v) (i)
2 @) (@v) (@) (i)
@) (v) @) (i) ()
(4) @iy (@v) () ()

o1 foame o Teiy # Frefatad & @ B QU @ o T8 8 2
(a) TE UH I foae € |

(b) T g fafyr o Sidvia A= ure € |

(c) I% Tema fafy o SierTd Al Ut & |

(d) TE f7ad ety o fou foame € |

T
(1) e (a), (c) 3T (d) TETE | (2) e (b), (c) 3R (d) FETE |
(3) fa® (b) W& | (4)  (a), (b), (c) 3T (d) T W E |

3MIH (A) 3T HROT (R) UG FAT =t T 7T F2i T JART e TR T

At (A) ; veTd etfufam 1937 g™ fafy o we 7 ¥ T gieetdl T @] HXar & |

FROT(R) 79 fufem 3 gt & folg o] ot qeft wermet (i gy 9 getd &t 91
) T R @ g |

ETE

(1) (A) T g 3R (R) Tod ¢ |

(2) (A) 3R (R) I T € |

(3) (R) el & foh (A) Tod & |

(4) (A) 3R (R) THI W& € 3R (R), (A) F T& FROTE |

IR % T % STER o ge] Heterad 5 § s €

(1) =&t B (2) R HT
(3) eIt (4) TR FEA



27.

Read Assertion (A) and Reason (R) and answer using the codes given below :
Assertion (A) : A juvenile delinquent may have physical capacity to commit crime,
while he has no contractual capacity to do so.

Reason (R) According to Section-11 of the Indian Contract Act, a juvenile has no
contractual capacity to commit crime.

Codes :

(1) Both (A) and (R) are right and (R) is correct answer for (A).

(2) Both (A) and (R) wrong.

(3) (A)iswrong but (R) is right.

(4) Both (A) and (R) are right, but (R) is not correct answer for (A).

28. “Consideration means a reasonable, equivalent or other valuable benefit passed on by the

transferor to the transferee. Similarly, when the word ‘consideration’ was qualified by the
word ‘adequate’ it makes the consideration stronger so as to make it sufficient and

valuable having regard to the facts, circumstances and necessities of the case.”
Above Principle was laid down in

(1) Sonia Bhatia Vs State of U.P.

(2) LIC of India Vs Pushpa P. Mansukhani

(3) Dipraich Sugar Mills Ltd. Vs Mazdur Union

(4) A.B.C. Laminart Pvt. Ltd. Vs A.P. Agencies, Salem

29.  Which of the following statements is right ?

(1) An agreement not to do an impossible act in itself is void.

(2) Anagreement to do a possible act is void.

(3) Anagreement to do an act impossible in itself is void.

(4) A contract to do an act, which after the contract is made, becomes impossible, or, by

reason of some event which the promisor could not prevent to be unlawful, becomes
valid, when the act becomes impossible or unlawful.

30. Match List-1 with List-11 and select the correct answer using the codes given below :

(@)
(b)

List-1
Remoteness of damage

(i)

Proof of loss to be given to claim (i)

special damages

List-11
Chief Secretary, State of Gujarat Vs
Kothari and Associates
Madras Railways Co. Vs Govind Rau

(c) Loss of profit is special loss (iii) Karsandas H. Thacker Vs Saran Engg.
Co. Ltd.
(d) Consequences of delays in (iv) Union of India Vs Steel Stock Holders
transit
Codes :
@ @® «© @
L @ () (v) (i)
(2 @) @ (i) (i)
@) @) @) @) (v)
@ (v) (@) (i) (i)
Paper-I1 14 J-58-16



217.

28.

29.

30.

J-58-16 15

AMHAT (A) 3R BRT (R) UfeT 3R T §T T Fei 1 7= H 3R ST -

AR (A) : T [T AR Sl SIY S Y RIN &0 81 el € STfeh 3T TET A
T HiRTH &haT T8l § |

FHRUT(R)  : 9RA™ Tlagr uf=m, o 9’7 11 % 3TER UH (e & Ty A &l
TfergTereh &THaT e erdl & |

ETE

(1) (A) 3R (R) IHT W& § 31X (R), (A) F folT W&t ST E |

(2) (A) 3R (R) I Tord € |

(3) (A) T &, g (R) W& € |

(4) (A) 3R (R) IH W& &, 75 (R), (A) % o0 W&t ST ¢ |

“UfTher” T 3T 3R FRT AR I UK fohaT T Jrokgerd THed a1 37 JgHed o § |
3 TH TR, S “UTdwer” Ieg & 37 W YA % gRT WiHd o A1 A6 & a9 Uidwer
Afyes gg o1 3T & ANk I8 Al & e, aRfefqal i snavaskdre & day § qard iR
HeTE & ST |

UG fagTa e § 9 | et § Temeas foar mar 2

(1) T e S 3T UST T

(2) YRGR Siie= ST T g qu O, A

(3) RRET PR e faes s m Asgt I

(4) T e w9 S T TS, g

e & & i o1 %o Wl € 2

(1) T IS Fed el B H R @ H T T |

(2) g TS FT A H W FAE |

(3) IS Fed ST T | W € ol B BT HR P € |

(4) I FT HA HI TORT ST TAGT FRA % LA TS & AT §, A7 B T F HRoy 5
TR 3T & ¥ &l h Thell el A & AT & ST Fed ST ST 379 & Sl ¢ |

el — | 3 gl — 11 B el sife qen A e T et i # wel 3 g
= - | = - 1

(a) &7 = XX (i) = Afea, ToRIT T I HERT T8 THIH0EH
(b) ToR &g &1 ST HH & (i)  FE 9 HHA! A TS To

forw &1t =1 Tea 3
(c) @M= & R ae |
(d) IR H foer & g
T

@ ® (@© (@
@ @ G (>v) (i)
@ @) @) (@i) (i)
@ @) i) @) ()
@ (@v) (@) (i) (i)

HIETETT T SR S0 G ST e fofiee

TR T S99 LIl Lieh gloed

(iii)
(iv)

Paper-II



31.

32.

33.

34.

Which of the following aspects are the parts of undue influence ? Answer using codes

given below :

(@) Inability to dominate will of other.

(b) A party unduly influencing and another party being unduly influenced are on equal
footing.

(c) Arelationship involving trust and confidence.

(d) Inarelationship, one party is a person in mental distress.

Codes :
(1) (a)and (b) only (2) (b)and (c) only
(3) (c)and (d) only (4) (a)and (d) only

Which of the following statements are wrong ? Answer using the codes given blow :

(@) Fraud renders a contract void.

(b) Misrepresentation renders a contract voidable.

(c) Misrepresentation is more or less an intentional wrong, whereas fraud may be quite
innocent.

(d) Damages for loss caused by innocent misrepresentation are assessed on the same
principles as in the case of a deliberate fraud.

Codes :
(1) (a) and (c) only (2) (b)and (d) only
(3) (a)and (d) only (4) (a)and (b) only

Which one of the following statements is correct in relation to the law of torts in India ?

(1) Itis based on morality that no one has a right to injure or harm other intentionally or
even innocently.

(2) Itisa civil wrong for which remedy is a common law action for liquidated damages.

(3) It is based on law which in the constitutional context means judicially developed
equity, covers everything which is covered by a statute.

(4) Itisan act and not omission suffered by a determinate person.

Match List-1 with List-11 and select the correct answer using the codes given below :

List-1 List-11
(Defences in Tort) (Related cases)
(@) Volentinon fitinjuria (i) Olga Tellis Vs Municipal Corporation, Bombay
(b) Judicial acts (i) Samira Kohli Vs Prabha Manchanda
(c) Acts of State (iii) Anwar Hussain Vs Ajoy Kumar
(d) Necessity (iv) Vinod Kumar Shantilal Gosalia Vs Gangadhar

Narsinghadas Agarwal
Codes :
@ (b (@ (@
@ @y iy Gv) ()
@ @Gy (@) (v) (i)
@) (v) (i) @) (i)
@ @ @) (i) (i)
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31.

32.

33.

34.

frfefad o & i 91 Tee] SO TTe 1 9T € 2 | 5T T el 1 T ST SN

(a)
(b)

(c)
(d)
ETE
(1)
@)

T I THST I ST FA Bl ST

3T ®9 ¥ UIad A ATl Uk Ul 3R A €9 ¥ UAIad 8 @l 8T UeT WHed
fefad e |

TR AR foreane &1 §e |

TQ aY T U TR AFMTE HE 9 difed e € |

FHAA (a) 3T (b) (2) HaA (b) 3R (c)
FHAA () 3T (d) (4) HTA (a) AT (d)

frefafed 5 & M 91 $H2F TTord ¢ 2 Ao T T %2t 1 FET IR T

(a)
(b)
(©)
(d)

&<
(1)
©)

HUE Teh TR hl I &1 AT & |

IR Teh HIART I TR0 &7 AT T |

AU AT TR 39 &, STalfch hue Fifedr & qebet & |

RiE TAIRTA % HROT g€ & i Ui 1 Fedich 3% gl % YR T Bl € ST o
ST FX FRT T H9e H BT ¢ |

(a) 3 (c) fak (2) (b) 3 (d) T
(a) 3 (d) Foa 4) (a) 3R (b) Fo

IR T 3Thed fofer o Gaiy § Feferiad § @ i U el § 2

(1)

(2)
©)

(4)

Tz Aferar X e & foh Tt safort ot 3ER Bt AT a1 F8t o foh sFfRien & o =ie
TG AT IR FA T HATRR T ¢ |

Tg U Tafeet Tordt & iSaeh forw aRfeiia Teramt & ST T SRaTe SUaR € |

I fafy o emenfRa & Fraest Tautes de & o1l =nfaes ¥9 9 faefad e €, dfafy s
e foFT T & =T ol FHoR BT ¢ |

g U F & 7 o A 31X ST Gehfoud =t gRT e o T g |

Tt — | B g - || & e G HiTa SR great & A §T T % BT UEhT $ 9l ST
T A

(a)
(b)
(©)
(d)

A

(1)
(2)

3)
(4)

J-58-16

=it - | =t - 1
(3P § Hfqare) (Hefer %)
Al A fhe g (i) 3fev Sfer R SHeTeT Shiune, e
SgfeimEe taed (i) THRT PR S T g€
T 3 (i) 3T gHA S 31T $HAR
ST (iv) forig FER Sifdetrer MaTterr s TR RIqesd
AT

@ () (@ (@
i) Gi)  (@v) ()
G) @) (v) (i)
Gv) @iy @) (i)
M @) (i) (iv)
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35.

36.

37.

38.

39.

The police officers failed to observe the provisions of U.P. Police Regulations in taking
care of the gold seized. The injury had been committed by the employees of the state
during the course of its employment, but the employment was in special category of
sovereign power, so the claim was not sustainable. It was held by the Supreme Court in

(1) Mohammad Murad Vs Govt. of U.P.

(2) Kasturilal Ralia Ram Jain Vs State of U.P.

(3) State of U.P. Vs Hindustan Lever Ltd.

(4) State of U.P. Vs Tulsiram

In which of the following cases the Supreme Court of India applied the principle of
absolute liability ? Give answer by using codes below :

(@ M.C. Mehta Vs Union of India

(b) Charan Lal Sahu Vs Union of India

(c) Indian Council for Enviro Legal Action Vs Union of India

(d M.C. Mehta Vs State of MP

Codes :
(1) (a), (b), (c) and (d) (2)  (b), (c) and (d) only
(3) (c)and (d) only (4) (a), (b) and (c) only

What remoteness of damage mean in relation to liability of defendant ?

(1) The defendant is not liable for all direct consequences of the tortuous acts if he
could foresee them.

(2) Forseeability is no test of remoteness of damages.
(3) Liable in Law only for consequences which are not remote.
(4) Directness of the consequences is the only test for the remoteness of the damages.

Andhra Pradesh State Road Transport Corporation Vs K. Hemlatha and Municipal
Corporation Greater Bombay Vs Laxman lyer are important cases decided by the Supreme
Court on the rule of

(1) Actof God

(2) Contributory Negligence
(3) Nuisance

(4) Trespass

Read the following Principle :

“There is always an imposed duty on a person to act on moral necessity to preserve one’s
life, yet there may be justifiable occasions of causing harm on innocent persons.”

In the light of the above, in which of the following circumstances the accused can claim
doctrine of self-preservation under the provisions of Sec. 81 of IPC ?

(1) When necessity is pleaded as a means of defence under sections 96 to 106.

(2) Self-preservation is not an absolute necessity, so killing the weaker is justifiable by
the stronger.

(3) Arresting a drunken person moving in great danger at a public place.
(4) When there is no choice of evil affecting the accused.
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35.

36.

37.

38.

39.

e SRR STed foRT T WHT 1 & Y& | 3.0, Iford fafami o wee™ & 9o & |
Tawet @, 78 T § i Bl el of o [0 # @ eifayid & e 78 36 S gen T %
FHHAMNET & FRT 3 AT 6 STHH % R g &7 fohq e T wifsk &l oy goft &
T o, TAMAT T8 a1 YRUNS =81 § | STIaH 1o = T8 Mo 6 69 1 f5ar 2

(1) ¥EHE I8 M 3T, THR (2) FHERIAT TR T ST 519 3.0, T

(3) U T W TR AeR [, (4) 3. T5F AW Jordt I

frefafed & 9 59 9 § YR & ITadyq =Eerd 3 Sciae JMae & (9T 1 oh] 6 & 2
T 3T T e 1 7T HW ST T

(a) UHH. Hedl SHE 9Rd 99

(b) RO AT WG I HRA T

(c) Efea Sifger BR TaRRI FiTel TR sHE IR 9

(d) TH.GLHEd S .03

ﬁ':
1) (), (b), (c) R (d) (2) A (b), (¢) 3R (d)
(3) A (c) HR (d) (4) A (a), (b) 3 (c)

AiqaTat & S1feed o Fag § &Afdqyid i ST 1 /T 37 ¢ 92

(1) wiqamt eTagher & Tt Feged TROTHT & foft STRERT & & AfS a8 S9! JashedT Y el
o |

(2) THHCIHITAT AT B TIEIAT T HIE T T € |

(3) A | oot 3 TR o forw STREmE & S g Téi € |

(4) OROTHT T YT ST AT Y IEIAT  ToTT THHTT T |

YUY TF WSH URGEA 10 S &, AN IR R 7 gaq awg a9 oeqvy 2%
TEwaquT HAl 1 U ITaad =rErer §RT FHferad | 9 69 o0 o STER f6ar T

(1) <eft P (2) TFTETE 3uET
(3) 3ua™ (4) AdER
FtetEd g &t 9igu

“Ueh AT W I8 Hed AR e & o a9 270 Siia & IRReTor & e Afdeh eTevasdr &
YR T SRS Y, T A (a1 sfeal i gl s o it 7ere? &l Fehd & 17

ST & 3Tele H, FEfefad & 9 f aRkfefaat § shge TRdg de dfear & arT 81
o W 3 ST STH-TRIE0T o FgT=T T STaT Y el © 2
(1) 19 4RI 96 ¥ 106 T & ST T & HTET & €9 H a9l T 3T HAT ¢ |
(2) 3T IRV WA LIS el §, T Sl & FRT FaA i &l =Arirad ¢ |
(3) TSI W6 W e ekl i 3T I & T TR bl TR HET |
(4) ST STHRT I TSI A AT L T IS oThed Tl & |
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40.

41.

42.

43.

44,

45.

In the absence of any cogent definition of unsoundness of mind, the world wide
acceptance of its equivalent to insanity was propounded by

(1) Stephan

(2) Harris
(3) Kenny
(4) Davis

The underlying principle covering the law on ‘consent’ is based on absolute and
unconditional prohibition on the gravity of the offence relating to :

(1) Simple hurt

(2) Death

(3) Theft from an unlocked house

(4) Submission for detaining indecent liberties

The right of private defence is not allowed in which of the facts leading to :
(1) The death was consequence of the assault.

(2) More harm was done than necessary.

(3) When the fact is clearly based on conjectures.

(4) When the fact reveals about imminent danger to self or property.

When a person tries to escape from lawful custody while being taken to a Magistrate to
furnish security for good behaviour could be punished under the provision of

(1) Section 224 of IPC

(2) Section 225 of IPC

(3) Section 225A of IPC

(4) Section 225B of IPC

The distinction between intentional killing in hot blood and intentional killing when the
blood was cool may be inferred through

(1) Provocation
(2) Self-control
(3) Passion

(4) Resentment

Read Assertion (A) and Reason (R) and answer using the codes given below :

Assertion (A) : In anillegal termination of workman the reinstatement of workman in
service does not appear to be an acceptable option in all cases. The
monetary compensation may sufficiently meet the ends of justice.

Reason (R) : The compensation in lieu of reinstatement is the normal rule.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) (A)and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue but (R) is false.

(4) (A)is false but (R) is true.
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40.

41.

42.

43.

44,

45.

Tera-farepla =t fohelt ek quT Ui o 3TTe H, ST | SO SHeddT i favd STt TR

T Wicare fohaet fohar o 2
1) =g () =
3) AT 4) e

‘g’ e A P IRR T U dTel SERYd (g Fefefad 5 9 fhg TRre l TiRar
et Wy 3T foarerd ufauy I e &

(1) SrERor 3wEfd 2 g
(3) TAFTL I AN (4) 3T TEcsar U A & fow fHaga

fferfiaa o @ fora e e o st uferen o R 3 a= @ &
(1) Tg THel T UROH o |

(2) STETIHAT T A URTH i T |

(3) & T T Y ¥ YHIT Ifgd STHAT W SR & |

(4) ST T TR A1 G & 3T Gl o aR H 3EIed HT § |

el Uk AT 3T SFIER & [T STHHT T e ARNTEE & U1 o ST T Y e & 9
N YA AT & Al S TLTH. il FFT aRT o WIS o ST e fomam ST aehel € 2

(1) =224 (2) ©RT 225
(3) ©RT225 A (4) «RT225B

Y T T g1 3R I T H TR & & o fo9g o1 Mot 5 9 fohges arem @ o ae
ST ST Gehell & 2

(1) v (2) a7 fRiEm
(3) e (4) I9

THR (A) 3T HROT (R) Ufel 3R A T 7T Fei 1 W Y 3 ST -

BT (A) | FHHR & el B 1Y THI bt (i § HHBR b Tar § serell gl Aot
iehr aehed Telid el 2l & | Hifseh ey =g o 3894 o T €9 § IR X Ghall ¢ |

HROT(R)  : TeTelt o a5l &Ifdfd Ush g HF & |

&

(1) (A) 3R (R) IHT T&t & T (R), (A) H &l == € |

(2) (A) 3 (R) H W& €, g (R), (A) i Tt 21T 7@l ¢ |

(3) (A) T e, g (R) T € |

(4) (A) T &, g (R) W&t € |
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46. An arbitration award is binding on

1)
(2)
(3)
(4)

All parties to the dispute.

All the workmen employed on the date of dispute and subsequent to the dispute.
The parties to the arbitration agreement.

All parties summoned to appear as parties to the dispute.

47. The Supreme Court referred the ILO instruments to reiterate the workers participation in
the industrial process as enshrined in the constitution and other labour legislations in one
of the following case :

1)
)
(3)
(4)

Chandra Bhavan Boarding & Lodging, Bangalore Vs State of Mysore
Monogram Mills Ltd. Vs State of Gujarat

University of Delhi Vs Ramnath

K.V.S. Ravi Vs Bangalore Metropolitan Transport Corporation

48. Where an undertaking is closed for any reason whatsoever, every workman is entitled to
compensation if such workman has been in the continuous service

1)
()
(3)
(4)

for not less than 90 days
for not less than 6 months
for not less than one year
for not less than two years

49. “Astrike could be legal or illegal and an illegal strike could be a justified one” was opined
by Justice V.R. Krishna lyer in one of the following case.

1)
(2)
(3)
(4)

Bharat Kumar K. Palicha Vs State of Kerala
Guijarat Steel Tubes Vs Its Majdoor Sabha
Monogram Mills Ltd. Vs State of Gujarat
University of Delhi Vs Ramnath

50. A Seven Judges Bench of the Supreme Court exhaustively considered the scope of the
definition “Industry’ and laid down the “Triple test’ in one of the following case :

(1)
(2)
3)
(4)

Paper-II

State of Bombay Vs Hospital Mazdoor Sabha

University of Delhi Vs Ramnath

Management of Safdurjung Hospital, Delhi Vs Kuldip Singh
Bangalore Water Supply Vs A. Rayappa
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46.

47.

48.

49.

50.

AT Uee fohe R SR & 2

(1) foarg o oot et |

(2) foar % o7 2R foarg & g FEifed @t R W

(3) TR THET % gel WY |

(4) foaTE & el o 9 H BIR 2 o [T 99 fohT 7T ot i |

SeIAH AT J WagE SR 3 oW wEA § s 6 Hed € st ik § wHert st
TEWIRTT S o TIT 3TE.Uet. 37, forral o ffetiad § & fore e H Sooia foham § 2

(1) T=We SIfST Uoe AT, SR ST 89T I

(2) wFIH fHed M, AW o TS

(3) feoelt fava fommera sAm oA

(4) HATE. AT T AR HEATAA LU BT

ST U SEH AR Rl off HROT & &% ¥, Tl HHBR iayid 1 gheR § A 98 FHER FHaw

(1) 90 57 ¥ & =& (2) 6T T A Tl
(3) UH Y I FHH TRl (4) = ast | HH T

“Ueh EEATA oY AT 3T &1 Wehell & A Ueh 7Y ggalel =Airtad & Tohelt &7 e forar =mayfd
3R, FOT AT §RT AT § ¥ 69 5 § =3 Toham 72 o 2

(1) ¥RA FAR &, Tifetar ST et T

(2) TR W ST T THH! HIGY T

(3) HHIm faew fefy, sAm TR TS

o

(4) oot fave foeme™ a9 e

ST =T & 9T T S Uie T ST St aier o uRkfy W faear gee o fen
3R T=feAtEd B ¥ 68 g9 1 oyt 3% =i Hadey T 2

[

(1) =€ T I e Aegy q
(2) Teoolt fovafoame™ sHM TS
(3) THEISHT ST fSoetl T Uee S8 Foldia (e

(4) AR e TwIE ST TIF0T
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